Měření č.1 (fo=5000 Hz)
Nastavené parametry:

L1


=
27
mH

C1


=
37
nF

R tlum


=
424
Ohm

Modelové napětí
=
5
V

	A) Průběh bez tlumícího odporu
	B) Průběh s tlumícím odporem
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Měření č.2 (fo=12000 Hz)

Nastavené parametry:

L1


=
27
mH

C1


=
6,5
nF

R tlum


=
424
Ohm

Modelové napětí
=
5
V

	A) Průběh bez tlumícího odporu
	B) Průběh s tlumícím odporem
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Měření č.3 (fo=600 Hz)

Nastavené parametry:

L1


=
27
mH

C1


=
2,6
mikF

R tlum


=
424
Ohm

Modelové napětí
=
5
V

	A) Průběh bez tlumícího odporu
	B) Průběh s tlumícím odporem
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